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ANSI/AGMA 9003-C17
July 2022

The following editorial correction will be added to the next edition of ANSI/AGMA 9003-C17, Flexible Couplings
— Keyless Fits (published December 2017).

The changes, discovered after publication, have been reviewed and approved by the Chairperson of the
AGMA Flexible Couplings committee.

Equation A.15 should be corrected as shown, to remove the “0” before the “w”.

= (A.15)
Ory =W (A.15)

Equation D.1 should be corrected as shown, to replace “92 000” with “920 000”.
27 2(9—2999)
nDZ Ly  n(6.341)% (6.100)(0.15)

=15920 psi (D.1)

Pmin =

21 _ 2(920000)
nDf Ly n(6.341)°(6.100)(0.15)

=15920 psi (D.1)

Pmin =

Equation D.12 should be corrected as shown, to replace “0.6502” with “6.341".

o E(Inyax ;gb)(ncg) ) (3ox106)(o.(z12e)s(:;fj;)(1+o.6502) 42649 s (0.12)

2 6 2
. E([max_[c)(1+ce)=(3ox10 )(0.016—0.00333)(1+o.650 )242649 . (0.12)
H 2D, (2)(6.341)

Equation D.14 should be corrected as shown to add a negative sign in front of the number “17 295”.

e ) ot )

~E(Imax ~ 16 )(1-C8)  ~(30x10°}(0.016-0.00333)(1-0.650?
2D, B (2)(6.341)

oR = = -17295 psi (D.14)
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The following editorial correction will be added to the next edition of ANSI/AGMA 9103-C17, Flexible Couplings
— Keyless Fits (Metric Edition) (published December 2017).

The changes, discovered after publication, have been reviewed and approved by the Chairperson of the
AGMA Flexible Couplings committee.

Equation A.3 should be corrected as shown, to square the “D_ " symbol.

L Dby (A.3)
P 103500(D3 - D} )

2
h DyDo (A.3)

P 103500( D3 - Df )

Equation D.11 should be corrected as shown, to replace the “+” sign before (293 + 120.5) (-121.2 + 0) with
a “=” sign.

Orot = \/|:(GH +0,)" +(or +or, )" (0w +0,)(oR + o, )] (D.11)

— J(2934120.5) + (~121.2+0)" + (293 + 120.5)(~121.2+ 0) = 486 MPa

Orot = \/[(GH +o, )2 +(oR + Oy )2 (o +0y)(or + Ry )} (D.11)

= (283+120.5) + (~121.2+0) - (293 +120.5)(~121.2+ 0) = 486 MPa
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